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REVIEW WORKSHEET 2 MATH 1300 MAY 01,2008

1. Find the following limits:
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functions and graph.

2. Find the relative maxima and minima, any inflection points, asymptotes and y-intecepts of the following
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3. Sand pouring from a chute forms a conical pile whose height is always equal to its diameter. The rate
at which is height is increasing is a constant 5 ft/min. At what rate is the sand pouring when thepile
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4. For the function v/25 — z? on the interval [—5, 3], find the ¢ guaranteed by the mean value theorem.
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5. Find the volumes of the following solids of revolution using either the disk/washer method or the shell
method (first sketch the regions)

{a) The solid formed by rotating the region bounded by the functions z = y* and z = y + 2 about

the y-axis.
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